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2L A 56.8 BERE 55.7 1,728 1,296 1,188 13 A LL
IZALA 34.6 JtiEE 30.6 - 1,296 - 10 Va9 LL
IZALA 5 & 4.0 1,404 — 1,188 10 vay L
ZIES5 2.1 5 & 1.9 2,700 - 2,592 10 A M
[E<ELY 116.6 ERE 115.3 1,944 1,188 864 15 A 6
HTE 1.0 2 0.7 4,320 — 1,728 4 A L
ZED 6.4 2 [ 4.0 2,160 2,160 1,404 4l A L
FrRy 83.2 = I 443 1,944 1,728 1,728 10 8
Fry BRE 21.3 1,944 — 1,728 0] A 8
IE5NAZES 2.2 2 [ 0.6 — 4,050 - 6
hE 6.4 BERE 3.0 2,160 — 1,944 3 L
hE 1.2 kB 0.4 7,128 6,480 5,832 3l vay M
LwA=E< 0.3 ERE 0.2 - 3,888 — 4l A M
125 2.7 = I 2.2 4860 3,240 3,240 5] vay
t)L1)— 0.1 & % 0.1 4,536 — 3,996 10 A LL
T RAINSHR 0.3 £ B 0.2 — 124 — 01| vay M
Hh)o257— 0.9
Joyal)— 15.0 B X 5.2 6,048 — 5616 10 20
LARZR 57.9 E & 49.0 1,998 1,404 1,296 10 12
LA2X 2 [ 6.8 2,160 1,728 1,296 4f A L
FoT YA 0.9 12 [ 0.6 1,620 1,458 1,134 3 A M
=S5t 9.2 EES 3.9 4,104 4,104 3,564 5
=p5Y ERE 26 4,320 — 4,104 5] A L
ANESSES) 5.0 JtiEE 5.0 — 1,728 — 10 vay 10
Y 4.4 EES 4.1 3,024 — 2,700 5/ A 32
k2 16.7 EES 10.4 2,916 — 2,160 4 M
I=kTh 7.7 BRE 4.8 194 130 119 02 A M
E—<> 9.1 BERE 7.4 6,480 5,832 5,184 7.8 A M
[2H5Y 0.3 BRE 0.3 1,404 972 972 3l A S
SPVAITFA 1.4 BRE 1.4 — 1,512 — 2l A
SPZAES 0.3 BRE 0.3 — 140 — 0.3
MrAL& 5.4 BRE 4.0 2,484 2,052 1,188 5/ A L
[EhiLs 53.5 JtiEE 53.5 — 1,512 — 0] A L
[ECTRYNS JtiEE - 1,728 — 0] A L
=L 0.4 BRE 0.3 4,320 4320 3,780 5/ A
hLE 0.3 E % 0.3 — 4968 — 10 B 4L
f=Fh&E 2215 JtiEE 216.2 2,484 2376 2,160 20 L4'4
f=FhE JtiEE - 324 - 10
ELLVE=T 2.0 BRE 0.1 — 119 — 0.1 M
ELLV=IT =I5 1.0 140 — 130 0.1 A M
ZDEET 6.6 £ B 3.1 49 38 32 0.1 A
ZDEET =I5 1.5 43 — 41 0.1
LHL 3.2 2 [ 3.2 108 73 73 0.2
ESES T 743.6
B=
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() ATT=®) (M) (M) (M) (kg)

BMAHMAEE 15.5
A B M 15.5 B X 10.6 3,240 — 3,024 10 L
AR M B X 4,320 4212 3,240 10 M
A B M B X 4,536 3,564 3,240 10 S
B4R BRE 3.1 2,700 2,700 2,160 10{ 7hv2 L
BAEM BRE 5,400 3,564 3,240 10{ 7hv2 M
B4R BRE 5,400 3,780 3,240 10{ 7hv2 S
LEY 2.2 F 0.5 8,100 — 6,480 17 115
INLULT 1.9 = I 1.9 8,424 5,724 5,724 17 88
L7y 0.4 = M 0.4 6,588 6,480 6,264 15 48
HmoHhrAED 0.1 ERS 0.1 — 162 — 1] 7hva
YATE 15.0
PEPE=IY 3.6 s F 1.3 - 5,292 - 10] vy 36
AL 3.2 5 & 2.2 5,940 — 4,860 10[ 74v1 40
E# 0.5
ZTDMYAZ 7.7 = 5.7 — 4320 — 10| LYY 36
HA%ZLE 0.7
ZTDHMEL 0.7 = B 0.4 — 1,836 — 5[ 7hva1 6L
FEEAL 0.7 W 0.7 2,376 — 2,160 5| bya 16
WEET 15.7
=45 8.9 2 [d 8.9 4536 4,320 1,620 0] ¢ L
RER 0.6 Z 40 0.6 - 4,320 — 10 <
FE 4.0 B 35 - 4,104 — 750 a9 L
ZTDHMEAAE 0.2 = 0.2 — 1,944 — 5 A 3L
ZDHMENE 2.0 E IE 1.9 4,320 3,996 3,780 10l Y3y3a 3L
SESE 15
Bilg 0.4 £ B 0.4 648 626 594 0.35] vay LL
EA—x L - 17,280 — 5 8
AOVEF 1.3
7—ILR 1.1 EES 0.9 2,484 — 2,376 4l 7hva 3L
ZFDAO 0.2 K B 0.2 - 5,832 — 8| 7hva1 5L
JLHE 2.0
ARy 2.0 X & 1.9 4104 3,456 3,240 18] va9 M
INFF 11.0 EUEY 104 4,320 4,104 3,694 15
IMFITIL 26 EEY 26 3,888 3,456 2,916 10 8
FoA4T)LY 1.8 oty D2 1.7 6,156 4,050 4,050 75 4
BEET 73.0




